Diese Frage als solche enthalt keine Syntaxfehler.

Logikdatei fiur die Umfrage #[332974]:
Exploring the regulatory conditions of
internet interconnection

Name Relevanz
# [ID] [Validierung] |Text [Hilfe] (Hinweis)
(Vorgabewert)
Regulatory
G-1 conditions |1
[GID 2]
Please specify what kind of regulation
influences your interconnection
practices and to what degree
1 = Little influence, 5 = Great influence
<script>
$(document).ready(functi
on() {
// Identify the
B2 tions
((B1.NAOK == questio
Q-3 |[QID 4] ")) var thisQuestion
Matrix [F] = $('#question'+QID+'");
var nextQuestion
= $(thisQuestion).nextAl1('.tex
t-short:eq(@)');
// Hide the shor
t-text question
$(nextQuestion).
hide(Q);
// Add a class t
o the "N/A" column




$('table.subques
tions-list thead tr th:last', th
isQuestion).addClass('na-column'
DK
$('table.subques
tions-list tbody tr', thisQuesti
on).each(function(i) {
$('td:1a
st', this).addClass('na-column')

s

// Hide the "N/A
" column
$C'.na-column’,
thisQuestion).hide();
var ansColWidth
= Number($('.col-answers', thisQ
uestion).attr('width').replace(/
%/, "',
var newColWidth
= (100-ansColWidth)/($( ' col.odd,
col.even', thisQuestion).length
-1);
$('col.odd, col.
even', thisQuestion).attr('width
', newColWidth+'%");

// Move the hidd
en text input into the array

$("th.answertext
:last', thisQuestion).append($(’
input[type="text"]"', nextQuestio
n)).closest('tr').addClass('othe
rRow');

// Initial "N/A"
radio setting
if($(" .otherRow
input:radio:checked', thisQuesti
on).length == @) {
$(' .othe
rRow .na-column input:radio', th
isQuestion).trigger('click"');

}




// Some styling.

$('input[type="t
ext"]"', thisQuestion).css({
'width':
'50%'
i9H

// Handle the "0
ther" radios
$('input[type="t
ext"]", thisQuestion).on('keyup
change', function(event){
event.st
opPropagation();

if($.tri
m($(this).val()) == "") {

$(C' .otherRow input:radio', thisQ
uestion).prop('checked',false);

$(C".otherRow .na-column input:ra
dio', thisQuestion).click();
ks

else {

$(C' .otherRow .na-column input:ra

dio', thisQuestion).prop('checke
d',false);
ks
i9H
i9H
</script>
Fragenattribut Wert

statistics_showgraph:1

Licensing requirements for international

SQ-1 (B2_ operators wishing to peer at an
exchange
Mandatory peering/interconnection at
SQ-2 |B2_ Y P a/

specific locations

SQ-3

B2_

“Universal service” directives




Economic incentives for local operators

SQ-4 |B2_4
Q - only
SQ-5 |B2_5 Competition laws
Regulatory authority defines and
SQ-6 |B2_6 imposes technical or operational
standards
sq-7 |B2_7 Regulatory authority operates

exchanges

Disclosure regulation (mandatory
SQ-8 |B2_8 transparency about aspects of
interconnection relationships)

Basic rights for citizens, e.g. right to

SQ-9 |B2_9 internet access or broadband (rights &
liability rules)

A[0]-1|1 [VALUE: 0] 1

A[0]-2] 2 [VALUE: 0] 2

A[0]-3|3 [VALUE: 0] 3

A[0]-4| 4 [VALUE: 0] 4

A[0]-5|5 [VALUE: 0] 5

A[0]-6| 6 [VALUE: 0] ier;au\::t;'::]t encountered this kind of

@i gone
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